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Tx/—NE [mg/ R :
1| mg/ £ 0.0} <0.01 <0.01
# 8 mg/ 2 0.01. 0.04 0.01
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® B  # uS/em 179 174 1§ 1911 183 164 168 16W 154 153 144 147
i) B mg/ R 11 12 24 < <5 <5
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Hn—Hex mg/ R '

2 £ FHe/l 3.26 1.89° I.98 1.52 2.81 2.47
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HD 0| mg/ @ 9.3 89 91 94 9.8 o4 8.2 8.4 83 9. 5.3 9.2
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# s S| me/ £ |« E 4 g 2 ;1 4 3 3 3
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EREtE 2 % ome/ f 0.009 0.012 0.011 0.609 0.00§ 0.012
OB R/l 1.197 0.920 1.354 1.144 1.184 1.202
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H | SRR - Fobs | B | Wb Bl | Fb] Bob| b)) Bh | B0 | WO Bd | B
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2k $Heg/Q <0005 <.0003 <.0005
Bl7 A% A& M*EE me/ 0 '
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P Hl - .8 71 74 7§ 7§ 719 .4 194 7.4 1.4 1.9 8.
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W (w3 L mg/ R <0.0] <0.01 <0.01
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T TR 2 % nz/ R 0.019 0.01§ 0.023 0.021 0.00¢ 0.013
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— 125 —



2 H H k& Kk H #H E R B %
dog & Nl piEEMEE W oW
MR ER—ET) FE JL1 " 4 005-51 )
[Ha] L. ANB ]
® B 8 (wajeaninsaofsae|i27elizze| 1iz) iz 221 27 1| 3215 3715
5 BIEHER JEEs) | 10245 | 13155 12:30 { 14:10 | 10240 | 13135 | 10:30 | 13:15 [ 10:40 | 14:00 | 10:45 13:50
x  ®| - m O §F| | ®m)| ow| | am| w| B B wm{ w
= m| € 16.0 14.q 15.4 150 15.0 15.d 8.0 389 7.0 7.9 1i7.0 18.0
-1k Bl C 15.9 13.4 13.3 13.4 6.0 10.0 87 84 8.8 9.9 10.d 10.5
B gl - 232 232 | 231 18 18y 2l 23| osil  oell 140 14
e =l - o1 oy orp ouf ouy) oul oy oyl o oryf  ortf o1
W & | w/S 67.69 51.81 36.8% 35.40 | 32.9 43.04
g | - Fols | B0 G| B0 WD B BOo| gud | 8| B mi ] B
MEBE em >30.0 »30.0 >30.0 »30.0 >30.00 »30.0 »30.0 >30.0 »30.0 >30.0 >30.0 »30.
H| #f 12BUKE m
2 K& m
W E Y E m
IR AR TY) <0005 <000 <0.005
yi2: I 7 Vmg/ R N.D. N.D. N.D.
H OB e/
b5 § mg/ R <(.05 <0.05 <0.05
JOL(GHE) |rm/f <0.02 <0.02 <0.02
w 24 mg/ P <0.02 1 <0,02 <0.02
2 K el <, 0003 <0005 <.0003 . 3
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B n—Hex e/ Q

£ ¥ X/l

2 , mg/ R

T =L | me/ 0

| mg/ § 0.0 <0.01 <0.0!
% & 30| me/ £ 0.07 <0.01 0.03
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e Fnd 0.542 0.145 0.454 0.476 0.492 0.511

OB O Bl 0.007 0.003 0.00% | 0.010 0.005 0.005
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WC O D|ng/R o.17 o4 o¢.828 o§ .42 1.2 1.y Ly 1.if o4 1.4 1.2
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I BEERTE 2B % nx/ R 0.002 <0.001 0.001 <0.00] | <0.001 <0.001
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TR e/l 0.827 0.924 0.834 0.86 0.904 0.877
o oW R mg/ @ 0.015 0.014 0.021 0.035 0.028 0.014
A B Sjmg/R <0.02 0.0 0,02
M B #H pS/m 3 g 121l 128 12d 129 133 133 139 134 M 1
# B mg/ £ <5 <q <9 <5 <5 9
B L e/ 2.0 2.0 2.4 2.7 3.1 2.
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